6.1

10
20
30
40




>0

A




Go(S)
G(s)

G(s)



o, N.Q

t

S’

t

r

’tp

SS

Vi K

Mr

N

Oy < ®p < O







()

(b)




1G.6)
R(s) E(s) —+l C(SZ

——>O——{ G4(5) ——>0——{ G,(s)

G, —|N(S)
l C
RIS (59 F—0——fGe L2

(1) (2) (3)
(4) (5) 6 ...



6.2

(P)
(PD)
(1)
(P1)
(PID)

/e .

G | Gy(s) |-

c




?7?

R(S)

G.(s)

G(S)




1 P223 PD

hﬂ(s{ 1

Y

RO, E6O) s+ 1)

K ‘ K

3o %=\
K () K
T 1

— P 2w _ = P
It B i



?7?

11



R(s) ) E(s) 1 M(s)

s(Ts +1)

C(s)

12



P212 B-5-33

-1.3

-

A

J0.7(00=250)

w=10

NI

-j1.4
=5

13



14



2 P225

R(S) X E(s) K, (Tis+1) M(s)) K, C(s)
— T.s s(Ts+1)

Pl
_ K,
s(Ts+1)

1 PI: G(s)

2 Pl
Ts+1) K, KK, (Tis+1)

K,
G(s)=G,(s)G,(s)= Ts  s(Ts+1) T.s2(Ts+1)
KoK,

T.

) K

TiTss +Tis2 + KOKpTis+ KoKp =0
T.>T



Pl

> PID

K 152 + T
G.(s)= Kp[]-‘FTl-I-’CSj: Tp Jits™+Tis+1
iS | S

m(t)= K e(t)+ %Fe(t)dt +K o1 dzt(t)

+ +
2 {
PID
. PID
PID ) PID
\ PID




M C
R(s) )T _E(s) X (S)> 6 (s) X
G,(S) L, (@) oo (@) | @ Yo h,
G(s) L(w) p(w) ) Y h
GC(S) LC (C()) D, (0))

17



6.3.1

o >0
@ <0
f — go(a))>0
! —go(a))<0
L {cp(w)
()
GC(S)z K, (zs+1) —
_als+1

PD G, (s)

 Ts+1

<0
>0

18



D GC (S): als+1

Is+1

1
a = = —

m \/g_l_
0.(@,)= g, = arcsin 2=

a+1
L.(w,,)=10Iga

:alT=9 7T

{Lc(oo)>0 = o, T
(Pc((’o)>0 — Y

P228 6-1 —a

L ()’
20lga

10lga

0dB

¢ ()]

19



) 6.3.2

20



e, <01

o
I =T
- -
= | |
N
- | |
R I P I |
= mw ——_CZLCIZ-Z- i
= S E
= ___r I |
Al BRI B R,
B - I_III I_
\d, S SR
| |
(g e |
K _WU |
_m |
\h_l < | 1 |
¥| 0% e
7 2 2
__ N 0
o
= | > =
o
o | g
et
< S
i _
Al — =
N (@)
wC Ilﬂv _
— ) o O o
(q\] N S D
T @
¢ |l I
o
o o
S

21



Yo >0

@ (@)

22



w, >4.4 y=45°

—10lga==> a=(

a4
Jio

I~ g

S o

(0] ~— A_-

o

(@) |
A=) ol <
S Sle

(@)

Q [l —_—
|m —_—~ m
m @ I _
S T
B LO ——

(&)

— =
LO

a=4

-6dB

Bode

23



w, >4.4 y=45°

24



o,,7,K,(dB) a,T

atT ([)mT I 7/T | i
G(s)= K(aTs+1) N, T
s(s+1)(Ts+1) 1 L \
®, =10aT =10x4x0.114 = 4.56 al

y =180° —90° —arctg4.56 + arctg(0.456 x 4.56) — arctg(0.114 x 4.56)
=90° -77.6° +64.3° —27.5°

=49.2°
Kg\(dB) = o0 = 25




G.(s)

o ¢R2

RCs+1 R, aTs+1

RiRZ CS+1 R1+R2 TS+1

i RHR g ()= 281 16 (q)

R, a Ts+1 a

26



O\OTJ.}
2 w,>44 3 y>45° 4 K, (dB)>10dB

-—=-rf------

27



28

o .
|
S ER YT BET SR~ PP -
~ iy S S |
- R Iy
- - - =-—-_---3--:-:C <t
- e i e = T
< - F-—-—-—-r-=-J---=-1|
< H r=— " "r=""=7""" 7 o
A\ _
(&)
S

I (TR | [

K3
N [ I I - N
I I I 1 N
....... e HNNUR NI (SRS NS AU DENSN ||
e S e E A o)
———F === =F = === LO
I I I ||_||||_1 4
||||||| [ T I Y A T o
TTTrTTTTI T T T T T
———F =—==-==-H-==1-—-= —
I I I
---r-—-—l-—-f---1-—- - ©
I 12 I
o
— 19 190 I -
S I I I
—
S
o
— S
D g © N Q
(&) WC MV 3 WA” m -
© o D R
S T+ =35 = O « <
<=2 % 2232 » K
- ST L
— (&)
I g S ,Ja
— S~ N——
WC P T I I
—
~ { {

| <
+ | +
(oI s
O | <<t
Lo | <«
N |
oo
I
—i
+| 7
)
TS
c |
I
A~
(Vp)
N—"
O



w, >44 y=45

i B e O N e R

K(aTs+1)
s(s +1)(Ts +1)

Bode

29

6-13

6-11



) 6.3.3

1 51,S,

2 51,5,

S1,5

— S5,

ZG(s,) = £G,(s,)+ £G_(s,) = (2k +1)180°

S1,S

D) £G,(s)=(2k +1)180° — £G,(s,)
(2) s.s,

30






6.4.2
1 2 a T

(K, =25
P249 6  Gy(s)= A la, =25
5(0.1s +1)(0.2s +1) c
1 V4 > 400
K=25 Bode
w,, ~11,y, ~-22°
o, <o,
L o(w)
2 .5 -900
-180°
180° + ¢, (@, ) -270°

=180° -90° —arctg0.1m, —arctg0.2w, ~ 49°—

32



>

Lc(w) /
0dB

-20Igb

G(s)




bT
@, =2.5
m=20lg2 = 201gRx b= @ _22_ (4
b @, K, 25
180° + ¢, (2.5) = 49° 90
1 zla)C:>T= 1 _ 40 :>GC(S)= 4s +1
bT 10 0.1x2.5x0.1 40s +1

Bode



" (K, =25
P49 6 Gols)= 5(0.1s +1)(0.2s +1) @ =2
1 L 72 40°
K=25 Bode 400 :
w,, ~11,y, ~-22° 20
o, < @, %o
L o(w)
2.5
180" + ¢, (@0, ) = 49° -90°
L go 180
-2700
1
2 o, <o,

3 7>y, 180°+¢y (o)

bTs +1
G = b<1
()= (<)

35



180° + ¢, (2.5) = 49°
\_/

w

71809
o, -270°

1 1
bT 10

40 =

T: e
0.1x2.5x0.1
Bode

1) y <0

R,Cs +1
R+ Ry)Cs+1 7

GC (S) — (




37



S1557
$,,S,
S—7
G (s) = :
S— P,
Z(s,—2.)—Z(s,— p,) — 0° =
1z

—=Z. P,

c

P,

N

v

N
o
o X

c

P

v



(bT,s+1)aT,s +1)
(T,s +1)(T,s +1)

G.(s)= b<l a>1 a:% bT; > aT,

Lc(w)/\ (Da o a(D
b b
0dB ; W2 , ¢

" 420

20Igb




)0

4)

5)
6)

p253 7

C‘)co
Kg(d B)
-20dB/dec -40dB/dec

Wy,

@, 1/a,

40



=t
Y <
Ly P, Weo
wW. >W

v

b,T, G,

S

A

41



42



L(w)

L(w)

G(s)

G(s)

43



@, -20dB/dec

-40dB/dec

H=22

@,
Mr zi
siny

- M, +1 1+siny

M, -1 1-siny
Y )

yT>M Io>HT

2

H+1

1
0)2 = EC()C

@, <

* @, W, 2

HT,;/T

\ 4



+20dB/dec
h(dB)

L (@)

-40 - -60 - -80......
K

P263  G,(s)= n

0.1s +1)(0.02s +1)(0.01s +1)(0.005s +1)
C, =0,C, =(1/200)s
o% < 30%
t. <0.7s

A w0 NN

h(dB)> 6dB

1 C,=0,C, =(1/200)s — K =200

K=200

L (@), L) L, (@)

45



2 1, <0.7s } Y2478 y=500 = H =TV _75
: —SIN
% < 30% — o ~13 ’
5 < o -0, = 0, <3.37
2H
W, > M. = M, > 22.6
TH+41 ¢ 0
1
27100 T | i =6 100 200
w, =50 0 5 ' 5 22
3 ®; 1 0, 100NNE0
L(a)) -20. '
3 -40
W, -40dB/dec @, 0
@, =0.13
20195 — 2019 % + 40192 o, = 2% _00845—
@, @, @,

\'



@, -40dB/dec 60
46 1-1
L, (&) ©, =100 407 |

20 |

3
: , . 50° 100 200
®; 10, 100~NE0 |

200[1 S+ lj
)] I
G(s)= & -100

2
sls+1 1s+l 1s+1 (1s+lj
@, @, @, 200
200(1s+1J
1.3
1




48



> Kl —><2—>
T,s+1
Kn
K1
Tls+1+ K1K2 .. ..... Tl.".is_i_l
P14+ KK
—> —>

49



R C > > >
—{ G — T -1 G0

C(s) =G(s)R(s) C(s) :%R(s)

G(s) m=) G(s)+AG(s) ——
C(s) =(G+AG)R(s) = GR(s) + AGR(s)

(G+AG)
1+ G+ AG
G N AG

1+G+AG 1+G+AG

C L AG Rs) =2 R()+ 2% R(s)
1+G 1+G 1+ G 1+ G

C(s) = R(S)

} R(S)

50



—@ﬁel(s)ﬁiez@ .
H(s) <

G;4(s)

Y(s) _ G,
X(s) 1+G,H

Y(jo) _ G,(Jw)

X(Jo) 1+G,(Jo)H(]w)

‘Gz(ja))H(ja))‘»l
V(o) G(lo) 1
X(Jo) G,(Jo)H(jo) H(jo)

G,(s)
G,(s)

G,(s)

o1



\ 4

Xp(8) K

= >
X,(s) 1-KK,

52



Q) 670

0—1G4(5)

G,(s)

L

Gce(s)

G;4(s)

Go (S) = GleGs

G(s

‘Gz(jco)GC(jco)( <<1

G, (jo)G, (jw)>>1

)_ GleGs _ Go

1+G,G, 1+G,G,

G(jm):Go(j‘D)_

G(jo)=

Gy(jo)Gs(]

®) _

Go(jw)

G, (jo)

G

(Jo)G, (jo)

G,(s)

53



‘ (ja))G (ja))‘ >>1 G G,
Gy ‘Gz(ja))Gc(ja))( <1
G, ‘Gz(ja) Gc(jo))‘ >>1
‘Gz(lm)G (J(D)(<
‘Gz(lw)G (J )(
, G, (j0)G. (jw) =1
3dB,
D Gioo)sl 2016 ks,(jo)> 0@

2019/G, (jow) > 201g/G( joo)

2
54



G, (5)F>0——{G,(s) G4(s) -
LGc(s) <
K ~0.0025 - 12
' 0.0145+1° s ' ° (0.15+1)0.025+1)

1 K, =150

2 % < 40%
3 t. <1s

0.03K

Gy (8) = GiG,G5 =

K =5000 === G,(s) =

5(0.014s +1)(0.1s +1)(0.02s +1)
K, =150, K >5000

150

5(0.014s +1)(0.1s +1)(0.02s +1)

95



=== 1= -r=-=--r
IR R N

I R R

150
~ 5(0.014s5+1)(0.15 +1)(0.02s +1)

Gy (S)

50 100

10 13

4
oS < m_
—_—~
S
N —"
_r ™
2] ™
S ® 9
Vi o —
<~ 3 I ﬂ M_
O | O
% B N~
= 2__0 ws I
o o] ™
(00
vio T T . O
X ~SI= < ¥
ﬁu M __ /\_ __
o AN
T T =38 8

LO

N~

X

<

S
o
i

L0

™

o

Q

=~

3
(&)
D
©
~~
m
o
o
o
o
—i

Il
o

S

150(0.25s +1)
5(2.865+1)(0.013s +1)° (0.014s +1)

56



3 G, ()G (s)

~

L(0) [

60

(@) > L(®) S, T ()
. _Gl(jO))G3(j(D)_ GO(J(D) 4348 ..... HaR iy W 'T'I'I'ITI'II'"'!"T'I'I'ITI'II"I'
G(jo)= = e e 1l X o
GC(J(D) GZ(J(D)GC(J(D) 20 L qoa:t! 40 -
==>201g|G, G, | = 201gIG,| - 201glG| N
E
20lg G,G, 20 .

6:(516.(5)= 2.505

0.25s +1)(0.1s +1)(0.02s +1)
1 2 G.(s)

v(w,) =180° +90° - arctg0.25w, —arctg0.1w, ——arctg0.02w, ~ 44°

G,G,  0.238s
5 G[(s) G.(s)=—2—<=
{9 G.(s) G, (0.255+1)




6.8 P100

6.8.1
G (8) E(s) 1-G,(s)G,(s)
D, (s) = = r
R(s) E(s) * C(s) R(s) 1+G,(s)G,(s)
——— (00— G,(5) —>O—1G,(s) F— 1
- G, (s)=
T G,(s)

58



G/(s)
G/(s)

G,(s)

G, (s)
R(S) E(s) —+l C(s) R E
— 00— G1(s) >0 Gy(8)

- — ?Gm —
T

CE)__G(s)

_C(8) _Gi(5)G,(5) + G, (5)G,(s) ()= R(s) 1+G,(s)

PO RE T 146,606, i
d(s)

OB GO~ o

59



QY 63>

G,(s) 0

GO _[N(s)
R(S)): + ) +

1 Go(9)

C(s)\

_C6) __G,)L+G,(5)G, (8)]
N(s) 1+G,(8)G,(8)

GJ9=—GiQ

(Den (S) —

1
2 Gy

6-11

60



